DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH 10 Name:
Time: Score: y—

397 + 10 = 16) 7885 + 10 =
2 3493 + 10 = 114594 + 10 =
3 5686 = 10 = 15) 1940 = 10 =
1) 7866 = 10 = 199 5915 + 10 =
5 7324 = 10 = 200 8272+ 10 =
6 1849 + 10 = 20 544 =+ 10 =
N 6260 = 10 = 22) 6293 + 10 =
5 2395+ 10 = 2) 7432 + 10 =
9 9155 + 10 = 2 301+ 10 =
0 6301 =10 = %) 9862 = 10 =
4216 + 10 = 200 856 + 10 =
12) 8648 =~ 10 = 27 6493 = 10 =
13) 5775 =10 = 28 7861 = 10 =
1245 +10 = 2 874+ 10 =
15) 2347 = 10 = 30 6601 + 10 =

Mathematics: Division - Level 7 - Horizontal - Set 3
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